 EQ \b\lc\{(\a\al\hs3\vs3(\f(r;8)+\f(8;r)=\f(25;15);r\s\up8(2)+8\s\up8(2)=25)) 
Отметим ОДЗ.

 EQ \b\lc\{(\a\al\hs3\vs3(r≠0;\f(r;8)+\f(8;r)=\f(25;15);r\s\up8(2)+8\s\up8(2)=25)) 
 EQ \b\lc\{(\a\al\hs3\vs3(r≠0;\f(r;8)+\f(8;r)=\f(5;3);r\s\up8(2)+64=25)) 
Решаем вспомогательное уравнение.

 EQ \f(r;8)+\f(8;r)=\f(5;3) 
 EQ \f(r;8)+\f(8;r)-\f(5;3)=0 
 EQ \f(r;8)+\f(8;r)-\f(5;3)=0 
 EQ \f(r\s\up8(2)3;8·3r)+\f(8·24;r24)-\f(5·8r;3·8r)=0 
 EQ \f(r\s\up8(2)3+8·24-5·8r;24r)=0 
 EQ \f(3r\s\up8(2)+192-40r;24r)=0 
 EQ \f(3r\s\up8(2)-40r+192;24r)=0 
 EQ 3r\s\up8(2)-40r+192=0 
Находим дискриминант.

 EQ D=b\s\up8(2)-4ac=\b(-40)\s\up8(2)-4·3·192=-704 
Дискриминант отрицателен, значит, уравнение не имеет корней.

нет решений

